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MT-05
Differential Equation

Aqh FHIDHIT

Bachelor of Science (Bsc-12/16)
Second Year, Examination-2019

Time: 3 Hours Max. Marks: 40

Note:- This paper is of Forty (40) marks divided into
two (02) Section A and B. Attempt the
question contained in these sections according
to the detailed instructions given therein.
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Section-A (TTS—)
(Long Answer Type Question) &€ ITRII UeH)

Note:- Section - A contains Three (03) long answer-
type questions of Ten (10) marks each.
Learners are required to answer any Two
(02) questions only. (2x10=20)
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1. Solve:
X23 32]—2X(1 +X)dy+2(1 +x)y = x3
gl BIFTT —
X23—2—2X(1 + %) y+2(1 +x)y = x>
2. Solve
d’y  dy s
@—4&+4y—x + e* + cos 2x
el DIy —
d’y  dy
@—4d—+4y—x + e* + cos 2x
3. Find the solutions of following partial

differential equations.

(a) xzp + yzq = Xy

(b) pP+q2=x+y
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(a) xzp + yzq = Xy

(b) pP+q2=x+y
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Section-B (Tvs—4)
(Short Answer Type Question) (cTg SHNERCES))

Note:- Section-B contains six (06) short answer type
questions of five (05) marks each. Learners
are required to answer any four (04)
questions only. (5x4=20)
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1. Solve
X%+2y: x? log x
B DINTY —
X%+2y: x? log x

2. Solve
(D2 -5D + 6)Y = sin 3x
Bl DINSTY
(D2 -5D + 6)Y = sin 3x

3. Find the solution of following simultaneous
differential equations.

dX—B + 2
dt XAy
dy

a—5X+3y
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dx =3x+2
at X
dy
P 5x + 3y
4. Solve the partial differential equation

(D2 - 2DD! + D12)Z = ex+2
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(D2 — 2DD! + D12)Z = ex+

5. Show that the differential equation is exact
1+ X2) + 3X + y=20
ENIRIY 1%5 ﬁﬂ?ﬁ%’r@ﬁ THIEROT AT B |

(1+X2)dy+3 »Ty=0

6. Solve
1+xy)ydx+(1-xy)xdy=0

g DI

1+xy)ydx+(1-xy)xdy=0
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